test

Table 7?7

library (modelsummary)
datasummary_skim(mtcars)
datasummary_balance(~vs, data = mtcars)
datasummary_correlation(mtcars)

dat <- mtcars

colnames(dat) [1] <- "under_score"

mod <- 1lm(hp ~ under_score + drat, dat)
modelsummary(mod, title = "Some caption content.")

if (knitr::is_latex_output()) {

modelsummary(mod, title = "Some caption content.",

}

align = "1d")



Unique Missing Pct. Mean SD Min Median Max  Histogram
mpg 25 0 20.1 6.0 104 19.2 339 willa
cyl 3 0 6.2 1.8 40 6.0 8.0 1« 1
disp 27 0 230.7 1239 711 196.3 4720 Hhmm.
hp 22 0 146.7 686 520 1230 3350 e
drat 22 0 3.6 05 28 3.7 4.9 il
wt 29 0 3.2 1.0 1.5 3.3 5.4 -l .
gsec 30 0 178 1.8 145 17.7 22.9 i _
vs 2 0 0.4 05 00 00 1.0 [ I |
am 2 0 0.4 05 00 0.0 1.0 1 =
gear 3 0 3.7 0.7 3.0 4.0 5.0 m .
carb 6 0 2.8 1.6 1.0 20 8.0 La__

0 1
Mean Std. Dev. Mean Std. Dev. Diff. in Means Std. Error

mpg  16.6 3.9 246 5.4 7.9 1.7
cyl 7.4 1.1 4.6 0.9 2.9 0.4
disp  307.1 106.8 132.5 56.9 —174.7 29.4
hp  189.7 60.3 914 24.4 —98.4 15.6
drat 3.4 0.5 3.9 0.5 0.5 0.2
wt 3.7 0.9 2.6 0.7 -1.1 0.3
gsec  16.7 1.1 193 1.4 2.6 0.4
am 0.3 0.5 0.5 0.5 0.2 0.2
gear 3.6 0.9 3.9 0.5 0.3 0.2
carb 3.6 15 1.8 1.1 ~-1.8 0.5
mpg cyl disp hp drat wt qsec vs am gear carb

mpg 1

cyl  —0.85 1

disp —0.85  0.90 1

hp  —0.78  0.83  0.79 1

drat  0.68 —0.70 —0.71 —0.45 1

wt  —0.87 078  0.89 066 —0.71 1

gsec 042 —059 —043 —0.71  0.09 —0.17 1

vs 0.66 —0.81 —0.71 —0.72 044 —0.55  0.74 1

am 0.60 —0.52 —059 —024 071 —0.69 —023  0.17 1

gear 048 —0.49 —0.56 -0.13 070 -0.58 —0.21 021 0.79 1

carb —0.55 053 039 075 —0.09 043 —0.66 —0.57 0.06 0.27 1




Table 1: Some caption con-

tent.
(1)

(Intercept) 278.515

(55.415)
under__score —9.985

(1.792)
drat 19.126

(20.198)
Num.Obs. 32
R2 0.614
R2 Adj. 0.588
AIC 337.9
BIC 343.7
Log.Lik. —164.940
RMSE 41.91




